Current Market Conditions Paper (Ford Motors)
Question: Productivity (word count 202) 

Question: Price Elasticity of Demand (word count 194) 

Total: 441
Assignment: analyzing the current market conditions of the organization/industry you selected, Ford Motors

​​​_______________________________________________________________

Twine (2009) stated,” Productivity is an economics refers to measures of output from production processes, per unit of input” (p.2). It’s a measure of efficiency of a company, a ratio of sales to expenses. To counter their decreasing sales, Ford came up with its Ford Motors (2009) stated, “The Way Forward’ plan where in it planned to cut down manufacturing costs by reducing production capacity and workforce and by simplifying the manufacturing process, with more models using common parts.” (p.1). But by doing this their net margin was also decreased. Ford in this interest plans to move from luxury car segments and also plans to sell Jaguar & Land Rover. 

Their new innovation with alternate fuels to run the automobiles will take them long way as the prices of Petrol & Diesel is on hike all over. They need to define the segment they are catering to with the product they offer. Repacking the same car and catering to a different segment is a strategy they should change in order to compete with competitors like General Motors, DaimlerChrysler, and Toyota. Ford Motors had a philosophy of whatever we would provide the customers they will buy because they don’t know what they want. 
_______________________________________________________________________

Quickseek (2009) stated,” Elasticity is the proportional change in one variable relative to the proportion change in another variable. The concept of elasticity can be used whenever there is a cause and effect relationship. The causal variable is often called the independent variable, while the affected variable is called the dependent variable” (p.2).  Factors affecting the price elasticity at Ford Motors:
· Products that are necessities are more insensitive to price changes because consumers would continue buying these products despite price increases. Conversely, a price increase of a good or service that is considered less of a necessity will deter more consumers because the opportunity cost of buying the product will become too high.

· The share of the good in consumers’ budgets: the greater the share the more elastic is the demand.
· The number of substitutes: the greater the number of substitutes, the more elastic is the demand.

· Whether the good is a luxury good or not: if the demand for the good rises with consumer income, the more elastic it is.
· The price elasticity of demand tends to increase over time as consumers find additional substitutes for the good.
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